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[ You must have: Ruler graduated in centimetres and
millimetres, protractor, pair of compasses, pen, HB pencil, eraser,
| Formulae Sheet (enclosed). Tracing paper may be used.

N
Total Marks

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.
You must show all your working.

Diagrams are NOT accurately drawn, unless otherwise indicated.

Calculators may not be used.

Information

The total mark for this paper is 80

® The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.

Try to answer every question.

® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
Here is a list of numbers.
2 4 4 7 8

Work out the range of these numbers.

$ — 4+

...................... 6

(Total for Question 1 is 1 mark)

Work out 120 — 89 / |

................ 21

(Total for Question 2 is 1 mark)

Simplify 3 xax4
|2 x A

(Total for Question 3 is 1 mark)

P 6 9 5 2 5 A 0 2 2 4

(/]

VIV SIHLNLILIYM LONOd V34V SIHL NI ILIIM 1ON Od

Y3dyY SIHLNIILIHM LON Od



. DONOTWRITEINTHISAREA

DO NOTWRITE IN-THIS AREA o

s

4 Measure the size of the angle marked x.

AN

5 Work out é of 300

[2xe

5| 300

............... 40

(Total for Question 4 is 1 mark)

(Total for Question 5 is 1 mark)
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6 There are 3 litres of oil in a can. 3 ooOm \
Jermaine uses 700 millilitres of the oil.

SIS

Work out the amount of oil left in the can.
Give your answer in millilitres.

o>

oN

1M L
QR

3000 — 700 = 43090C

55 55 55
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0%

'2’ 3 oo millilitres

(Total for Question 6 is 3 marks)
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7

7 Matt is drawing a scale diagram.

\.

1 cm represents 5m. ?)C- M

He draws a line 3 cm long.

(a) What real distance does the line represent?

3x5 = I5m

The real distance between two points is 20 m.

(b) What is the distance between the two points on the scale diagram?

(Total for Question 7 is 2 marks)
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8 Miss Bailey asked 24 students where they each wanted to go on a school trip.

Here are the results.

\/Qq/ R ‘5;;

museum~” castle” castle”’ farm” _,,2_\

farm castle ” farm~” farm/ 3
castle // farm -~ castle / castle”” s\
castle farm 7 castle” museum~"~ :i\
museum 7~ farm 7~ castle” museum St
museum museum_~ castle castle” 3\
-:f(",‘\
(a) Complete the frequency table. E\
e

X

Place Tally Frequency

castle J/m “’rr l ||
farm M ]I 7

museum l/m ’ 6

X

(b) Write down the place that is the mode.

L ) S8
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(c) Draw a bar chart to show the results.

|9

¥

[ 3-
| 1]

[ -

Ca.Sé[C- JCa.rM MU S L Lrn

f[ac&

(Total for Question 8 is 6 marks)
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9 Selina has a bag of 22 counters.

5 of the counters are blue.
9 of the counters are red.
8 of the counters are pink.

Selina takes at random a counter from the bag.

Write down the probability that Selina

(1) takes a red counter,

(i1) does not take a pink counter,

5+1° 14

(ii1) takes a white counter.

(Total for Question 9 is 3 marks)
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10 Here are the ingredients needed to make 20 peanut butter cookies.
. 6 o Co okl d
Makes 20 cookies 5
250 g peanut butter > 5 7o Os Pmml:»‘cf‘ef
200 g sugar x 3
2 small eggs x 3%
Derek wants to ookies.
has 900 g of peanut butter.
——
Does Derek have enough peanut butter to make 60 cookies?
You must show how you get your answer.
Yes e needs 7509
(Total for Question 10 is 3 marks)
. J
9
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11

On the grid, draw an enlargement of the triangle with a scale factor of 3

(Total for Question 11 is 2 marks)

%%%0&, 03‘, S ORRKE: ﬁé ST
R R IR

%
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12 P=2g+4h

(a) (1) Work out the value of P wheng=3 and 7 =5

V=3r—gq

p=a(3)+4(s)
- 6 +20

P= =
(i1)) Work out the value of g when P =38 and 4 =3
33 = 29 + 4(3)
= ks
lb - i\j
J=19 - 13
(b) Work out the value of " when r=-3 and ¢ =2 -
-9
= - - L —1
v=302) Lo
- -9 -4 — U
-2
o T

U]

(Total for Question 12 is 6 marks)
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Chloe is making scrunchies.

Chloe has a large number of hair bands.
Each hair band costs 8p.

She buys 100 g of wool for £3

3 r /5
Chloe uses 1 hair band and 5 g of wool to make each scrunchy.

—_—
She makes as many scrunchies as she can.

Work out the total cost of each scrunchy that she makes.
Give your answer in pence.

(009 & ool for 300Pp
|O OY wOOl Pbr 3OF
J | L 2P
gy o B

gf‘l'lgp: l/a/ﬁ_’

(Total for Question 13 is 4 marks)
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14 On the grid, draw the graph of y =4x — 1 for values of x from -2 to 2

A

J

,2 2

_ 5///5 7

=V

(Total for Question 14 is 3 marks)
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15 Steve is buying a car.
The car costs £12000 2 95 / )
oooQo - (o] ( .
é/’___’ -—%”CDO’/
-

Steve pays 25% of the cost as a deposit.
He pays the rest of the cost in 20 equal monthly payments.

How much is each monthly payment?

= c o
/
900 g _ t4 5o
/ ’/
27
£ . 4.920
(Total for Question 15 is 4 marks)
16 Shah takes an exam. 0
The exam is out of 60 marks. /y
Shah needs to score at least 70% of the marks to pass the exam. "/l/’_?__ = ’3“— = 6/ o
He scores 45 marks. &0 "i’ Ve
Show that Shah passes the exam.

e

707, of 60
= ¢ 2 Mark$ /

0.7 % e©°

L{’S 7 er "’ 14& FC#SSC)

e

(Total for Question 16 is 2 marks)
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301

(Total for Question 17 is 3 marks)

17 Work out %% c l 5
Give your answer as a mixed number. —_ 3
= - - 05
18 Work out f;x 2).(40
6Hx 24
63
X 24
I
27 F
(2 6 O
| | L

U]

Qg x4k -

- 15072

(Total for Question 18 is 3 marks)
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19 (a) (i) Write down the value of 5°

———
ONOQ: s

1M 10
S8

(i) Write down the value of 5

KRR

o9

o

X

S~
VAUV SIHLNIEL

X

6))

5 4 XX
. x2" . . . : s
(b) Write 3 in the form 2" where 7 is an integer. R

(Total for Question 19 is 4 marks)

" J 83
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20 (a) Write 156 as a product of its prime factors.

| 960
O\
@ 73
/ N\
» 319
VRN
@@ ngxgyIS

2x3x13

(b) Find the highest common factor (HCF) of 156 and 130

U]

L3230

@/ \4, g\
5 @

(Total for Question 20 is 4 marks)
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21 The mean length of 5 sticks is 4.2 cm. Sxy4. L = L \ cm

Nawal measured the length of one of the sticks as 7cm.

(a) Work out the mean length of the other 4 sticks.

21,7::%—0\/\

Nawal made a mistake.
The stick was not 7cm long.
It was 17 cm long.

(b) How does this affect your answer to part (a)?

(Total for Question 21 is 4 marks)
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22 The point P lies on the line 4B.
Use ruler and compasses to construct an angle of 90° at P.
You must show all your construction lines.

DONOTWRITE INTHISAREA

~
A

(Total for Question 22 is 2 marks)
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23 The diagram shows an isosceles triangle ABD and the straight line ABC.

BA=BD

x:y=2:1 " Zflj
/

Work out the value of w.

/o ¢

\|

130 - 26

(Total for Question 23 is 4 marks)
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24 Mano has three shelves of books.

There are x books on shelf A. 2 3 x + [ t tx ~ 5
There are (3x + 1) books on shelf B.
There are (2x —5) books on shelf C.

There is a total of 44 books on the three shelves.
All the books have the same mass.
The books on shelf B have a total mass of 7500 g.

Work out the total mass of the books on shelf A.)
6 —4 =19
cx - %

xr = %
. boow)
el L A %
et g ab ke 73999
C" ,/ bﬂok’s
Ssoo . 500D _ 22°°2 - 3oc g
5 50 1os per loolc
Q x D2>¢° = Q'b\'ooj
..................... 2400

(Total for Question 24 is 5 marks)
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25 A piece of glass has a mass of 27 g and a volume of 10cm’ M S-S

Work out the density of the piece of glass. 0{ enys , é’ y = W
2]
/
| O
.................... 2——7 g/em’

(Total for Question 25 is 2 marks)

26 Work out an estimate for 5.7x8.2
0.26
6~ % _ 43+
— 5 x«
o5 0%
- 19L
° o -~
Q/grej 4¥ = $85 = /60
_/3' 0_5 3
~ /92

(Total for Question 26 is 3 marks)
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| 27 (a) Expand and simplify  (3x +2)(2x —5)
~_/

paf—15x Tt ¢gx — O

(b) Factorise ~ x°— 16

(x+4) (¢ )

,,,,,, (xry)(x -4)
1)

(Total for Question 27 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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